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B.Ed. SPECIAL EDUCATION (BEDSE) 

Term-End Examination 

June, 2011 

MMDE-017 : TEACHING OF SCIENCE 

Time : 2 hours 	 Maximum Marks : 50 

Note : All questions are compulsory. Questions may or may 
not have internal choice. Marks are alloted against 
each questions. 

1. 	Answer any seven of the following questions. 2x7=14 
(a) What is the purpose of Science Education ? 
(b) Sketch the notion of scientific approach ? 
(c) Write down the difference between teacher 

centred approach and student centred 
approach of teaching. 

(d) Explain the safety rules that need to be 
enforced in the Laboratory. 

(e) Science Laboratory is an integral part of 
teaching science, how ? 

(f) Sketch the importance of Radio and 
Television as teaching aids. 

(g) Define the Harward Project Physics (HPP). 
(h) What is Chemical Bond Approach (CBA) ? 
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(i) What is the difference between 

Measurement and Evaluation ? 

0) 
	

Mention the uses of first aid box in a school 

and laboratory. 

	

2. 	Answer any three of the following questions. 3x4=12 

(a) How will you define the Motion ? What 

are different types of motions ? 

(b) Find out the relationship between the 

distance, velocity and acceleration. 

(c) Establish the relationship between kinetic 

energy and momentum of a body. 

(d) What is Newton's Law of Gravitation ? 

(e) Distinguish between the Myopia and 

Hypermetropia. 

(f) State Faraday's Laws of Electromagnetic 

Induction. 

	

3. 	Answer any four of the following questions. 4x3=12 

(a) Write down three merits of Modern Periodic 

Table. 

(b) Write down three demerits of Modern 

Periodic Table. 

(c) What is chemical bond ? 

(d) What is chemical equation ? 

(e) What is difference between Flux and Slag ? 

(f) How does sulphur react with Metal ? 

(g) Define the Alkanes and Alkenes. 

(h) Write down two uses of Organic Acids. 
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4. 	Answer any three of the following questions. 3x4=12 
(a) What is cell cycle ? 
(b) Write down three significance of Meiosis. 
(c) What is Respiration ? 
(d) Explain the Ecological Balance in brief. 
(e) What are the basic conditions for Good 

Health ? 
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